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1. (a) ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÈÛÛ ¾ÛÛ¤éø ’õ¾ÛÛ×ïõ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 4 

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà Ü¸Û©ÛÛ¶Ûà ÿ˜ÛÛˆ (X) …¶Ûé ¸ÛäªÛ¶Ûà ÿ˜ÛÛˆ (Y) ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ 

•Ûä¨Û¶Û ¸Ûó–ÛÛ©Û¶Ûà Áõà©Û¬Ûà ÉÛÛéµÛÛé : 6 

Ü¸Û©ÛÛ¶Ûà ÿ˜ÛÛˆ (X) 73 71 70 69 68 68 67 66 

¸ÛäªÛ¶Ûà ÿ˜ÛÛˆ (Y) 72 70 73 73 69 66 69 68 

 (c) ¶Ûà˜Ûé¶ÛÛ ¸ÛÜÁõ¨ÛÛ¾ÛÛé ¸ÛÁõ¬Ûà ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé : 4 

  n = 10, ∑x = 510, ∑y = 340, ∑(x – 51)2 = 52 

  ∑(y–34)2 = 72, ∑(x – 51) (y – 34) = – 24 

    …¬ÛÈÛÛ 

 (a) ÜÈÛïõà¨ÛÙ …ÛïèõÜ©Û¶Ûà Áõà©Ûé ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûà ›ä÷þùà ›ä÷þùà Ýïõ¾Û©ÛÛé¶Ûä× …¬ÛÙ–Û¤ø¶Û ïõÁõÛé. 4 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ’õ¾ÛÛ×ïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé : 6 

X 70 60 40 10 70 40 70 60 

Y 50 20 30 30 50 20 50 70 

 (c) x …¶Ûé y ¶Ûà 25 ›Ûé¦ø¶Ûé …ÛµÛÛÁéõ ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇé ™öé :  4 

  ∑x = 125, ∑x2 = 650, ∑y = 100, ∑y2 = 440, ∑xy = 508 

  ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛà ©Ûé¶Ûä× …¬ÛÙ–Û¤ø¶Û ïõÁõÛé. 
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2. (a) Ü¶ÛýÛ©ÛÍÛ×¼Û×µÛÛ×ïõ¶ÛÛ •Ûä¨ÛµÛ¾ÛÛë ›÷¨ÛÛÈÛÛé.  4 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛÛ×ïõÛé ÉÛÛéµÛÛé …¶Ûé ©Ûé ¸ÛÁõ¬Ûà ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé : 6 

X 50 55 55 60 65 65 65 60 60 50 

Y 11 13 14 16 16 15 15 14 13 13 

 (c) …éïõ Ü³ù˜ÛÅÛ ¾ÛÛÜÐü©Ûà¾ÛÛ× –x = 25, –y = 40, Sx = 3, Sy = 6 …¶Ûé r = 0.8 ™öé. y = 45 ¾ÛÛ¤éø x ¶Ûà 

Ýïõ¾Û©Û¶Ûä× …Û•Û¨Û¶Û ïõÁõÛé. 4 

…¬ÛÈÛÛ 

 (a) ÍÛ¾Û›ÛÈÛÛé : Ü¶Û¨ÛÛÙýÛïõ©ÛÛ×ïõ 4  

 (b) ¼Ûé Ü¶ÛýÛ©ÛÍÛ×¼Û×µÛ Áéõ”ÛÛ¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé 5x + 3y = 95 …¶Ûé 2x + y = 35 ™öé, ©ÛÛé –x, –y …¶Ûé r ÉÛÛéµÛÛé. 6 

 (c) ›Ûé bxy = – 1.5 …¶Ûé 
Sy
Sx

  = 0.5 ™öé r …¶Ûé byx ¶Ûà Ýïõ¾Û©Û ¾ÛéÇÈÛÛé. 4 

 

3. (a) ÍÛ¾ÛÛ×©ÛÁõ ËÛé¨Ûà¶Ûä× ÍÛÛ¾ÛÛ¶ýÛ ÍÈÛÄõ¸Û ›÷¨ÛÛÈÛÛé …¶Ûé ¸Ûó¬Û¾Û n ¸Ûþù¶ÛÛ ÍÛÁõÈÛÛÇÛ ÉÛÛéµÛÈÛÛ¶Ûä× ÍÛæªÛ ¸Û¨Û 

›÷¨ÛÛÈÛÛé.  4 

 (b) (i) ¶Ûà˜Ûé¶ÛÛ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 6 

   – 3 + 8 + 19 + 30 +    ……. (9 ¸Ûþù¶ÛÛé ÍÛÁõÈÛÛÇÛé) 

  (ii)  10 + 5 + 2.5 + 1.25 + ……. (8 ¸Ûþù¶ÛÛé ÍÛÁõÈÛÛÇÛé) 

 (c) ªÛ¨Û ÍÛ×”ýÛÛ…Ûé ÍÛ¾ÛÛ×©ÛÁõ ËÛé¨Ûà¾ÛÛ× ™öé. ©Ûé¾Û¶ÛÛé ÍÛÁõÈÛÛÇÛé 51 …¶Ûé •Ûä¨ÛÛïõÛÁõ 3213 ¬ÛÛýÛ ™öé. ©ÛÛé ©Ûé 

ªÛ¨Û ÍÛ×”ýÛÛ…Ûé ÉÛÛéµÛÛé. 4 

…¬ÛÈÛÛ 

 (a) •Ûä¨ÛÛé«ÛÁõ ËÛé¨Ûà¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé …¶Ûé ¸Ûó¬Û¾Û n ¸Ûþù¶ÛÛ ÍÛÁõÈÛÛÇÛ ÉÛÛéµÛÈÛÛ¶Ûä× ÍÛæªÛ ›÷¨ÛÛÈÛÛé.  4 

 (b) n ¸Ûþù¶ÛÛé ÍÛÁõÈÛÛÇÛé ¾ÛéÇÈÛÛé. 6 

  7 + 77 + 777 + ………. 

 (c) ¼Ûé ÍÛ×”ýÛÛ…Ûé¶ÛÛé ÍÛ¾ÛÛ×©ÛÁõ ¾ÛµýÛïõ 25.5 …¶Ûé •Ûä¨ÛÛé«ÛÁõ ¾ÛµýÛïõ 12 ™öé. ©ÛÛé ©Ûé ÍÛ×”ýÛÛ…Ûé ÉÛÛéµÛÛé.  4 



TR-113 3 P.T.O.  

4. (a) ›Ûé ux = x2 – 3x + 5 ÐüÛéýÛ ©ÛÛé Δux …¶Ûé Eux ¶Ûà Ýïõ¾Û©Û ¾ÛéÇÈÛÛé. 4 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà log 37 ¶Ûà Ýïõ¾Û©Û ÉÛÛéµÛÛé : 6 

  log 35 = 1.5441, log 38 = 1.5798, log 40 = 1.6021. 

 (c) 100 ÜÈÛ²Û¬Ûâ…Ûé…é ¾ÛéÇÈÛéÅÛÛ •Ûä¨Û¶Ûä× …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé. ©Ûé ¸ÛÁõ¬Ûà 36 ¬Ûà …Ûé™öÛ 

•Ûä¨Û ¾ÛéÇÈÛ©ÛÛ ÜÈÛ²Û¬Ûâ…Ûé¶Ûà ÍÛ×”ýÛÛ ¶Û‘õà ïõÁõÛé. 4 

•Ûä̈ Û 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 

ÜÈÛ²Û¬Ûâ…Ûé 10 21 34 23 12 

…¬ÛÈÛÛ 

 (a) …×©ÛÈÛëÉÛ¶Û, ¼ÛÜÐüÈÛëÉÛ¶Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé …¶Ûé ©Ûé¶Ûà µÛÛÁõ¨ÛÛ…Ûé ›÷¨ÛÛÈÛÛé.  4  

 (b) ›Ûé y1 = 3, y5 = 31, y11 = 133 ÐüÛéýÛ ©ÛÛé ux ÉÛÛéµÛÛé …¶Ûé ©Ûé ¸ÛÁõ¬Ûà uy ¾ÛéÇÈÛÛé. 6 

 (c) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà f(6) ¶Ûà Ýïõ¾Û©Û ¾ÛéÇÈÛÛé : 4 

x 0 1 2 3 

f(x) 1 3 7 13 

 

5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 14 

 (1) ›Ûé n = 10 …¶Ûé ∑d2 = 30 ÐüÛéýÛ, ©ÛÛé r ¶Ûà Ýïõ¾Û©Û ¾ÛéÇÈÛÛé. 

 (2) ›Ûé Sx = 5, Sy = 8 …¶Ûé r = 0.9 ÐüÛéýÛ ©ÛÛé Cov (x, y) ¶Ûà Ýïõ¾Û©Û ¾ÛéÇÈÛÛé. 

 (3) ›Ûé r (x, y) = – 0.7 ÐüÛéýÛ ©ÛÛé r(–x, –y) ¶Ûà Ýïõ¾Û©Û ÉÛä× ¾ÛÇé ? 

 (4) ›Ûé X …¶Ûé Y ÍÛ×¸Ûæ¨ÛÙ ÍÛÐüÍÛ×¼Û×ÜµÛ©Û ÐüÛéýÛ ©ÛÛé byx = _______ ¬ÛÛýÛ. 

 (5) ›Ûé byx = 0.8 …¶Ûé bxy = 0.2 ÐüÛéýÛ ©ÛÛé Ü¶Û¨ÛÛÙýÛïõ©ÛÛ×ïõ¶Ûà Ýïõ¾Û©Û ÉÛÛéµÛÛé. 

 (6) ¼Ûé Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ Áéõ”ÛÛ¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé y = 
3
4 x …¶Ûé x = 

1
3 y ÐüÛéýÛ ©ÛÛé r ¶Ûà Ýïõ¾Û©Û ¾ÛéÇÈÛÛé. 

 (7) ›Ûé –x = 3, –y = 4, byx = 0.7 ÐüÛéýÛ ©ÛÛé Y ¶Ûà X ¸ÛÁõ¶Ûà Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ Áéõ”ÛÛ¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ¾ÛéÇÈÛÛé. 

 (8) ÍÛ¾ÛÛ×©ÛÁõ ËÛé¨Ûà¾ÛÛ× a = 100, d = –7 ÐüÛéýÛ ©ÛÛé T20 ÉÛÛéµÛÛé. 
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 (9) •Ûä¨ÛÛé«ÛÁõ ËÛé¨Ûà¾ÛÛ× a = 2, r = 3 ÐüÛéýÛ ©ÛÛé T10 ÉÛÛéµÛÛé. 

 (10) ¼Ûé ÍÛ×”ýÛÛ…Ûé 4 …¶Ûé 9 ¾ÛÛ¤éø ÍÛ¾ÛÛ×©ÛÁ ¾ÛµýÛïõ …¶Ûé •Ûä¨ÛÛé«ÛÁõ ¾ÛµýÛïõ ÉÛä× ¾ÛÇé ?  

 (11) ÍÛ¾ÛÛ×©ÛÁõ ËÛé¨Ûà¶Ûä× n¾Ûä× ¸Ûþ ÉÛÛéµÛÈÛÛ¶Ûä× ÍÛæªÛ …Û¸ÛÛé.  

 (12) Δ …¶Ûé E ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ›÷¨ÛÛÈÛÛé. 

 (13) ›Ûé ux = x2 + 7x – 3 ÐüÛéýÛ ©ÛÛé Δux ¶Ûà Ýïõ¾Û©Û ¾ÛéÇÈÛÛé. 

 (14) ›Ûé Δu0 = 17 …¶Ûé Δu1 = –15 ÐüÛéýÛ ©ÛÛé Δ2u0 ÉÛÛéµÛÛé. 

___________
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1. (a) Explain Rank method to find coefficient of correlation. 4 

 (b) From the following data, find the coefficient of correlation between Father’s height 
(X) and their Son’s height (Y) by product moment method : 6  

Father’s height (X) 73 71 70 69 68 68 67 66 
Son’s height (Y) 72 70 73 73 69 66 69 68 

 (c) Find the correlation co-efficient from the following results : 4 
  n = 10, ∑x = 510, ∑y = 340, ∑(x – 51)2 = 52 
  ∑(y – 34)2 = 72, ∑(x – 51) (y – 34) = – 24 
    OR 
 (a) Interpret the different values of correlation coefficient using scatter diagram. 4 

 (b) Find Rank correlation coefficient from the following data : 6 
X 70 60 40 10 70 40 70 60 
Y 50 20 30 30 50 20 50 70 

 (c) The following data are obtained from 25 pairs of x and y  4 
  ∑x = 125, ∑x2 = 650, ∑y = 100, ∑y2=440, ∑xy = 508 

  Find correlation coefficient and interpret it. 
 

2. (a) State the properties of regression coefficient. 4 

 (b) Find the coefficient of regression from the following data, hence from its calculate 
the coefficient of regression. 6 

X 50 55 55 60 65 65 65 60 60 50 
Y 11 13 14 16 16 15 15 14 13 13 

 (c) In a birariate data –x = 25, –y = 40, Sx = 3, Sy = 6 and r = 0.8. Estimate the value of      
x for y = 45. 4 

OR 
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 (a) Explain coefficient of determination. 4 

 (b) The equations of two regression lines are 5x + 3y = 95 and 2x + y = 35. Find –x,  –y 
and r.   6 

 (c) If bxy = – 1.5 and 
Sy
Sx

  = 0.5, then find the value of r and byx. 4 

 
3. (a) Give the general form of Arithmetic progression and the formula of sum of their 

first n terms. 4 
 (b) (i) Answer the following : 6 
   – 3 + 8 + 19 + 30 +    ……. (sum up to 9 terms) 
  (ii)  10 + 5 + 2.5 + 1.25 + ……. (sum up to 8 terms) 
 (c) Three numbers are in arithmetic progression. Their sum is 51 and their product is 

3213. Obtain these numbers. 4 
OR 

 (a) Define Geometric progression. Also give the formula for sum of their first n terms. 4 
 (b) Find the sum of n terms 6 
   7 + 77 + 777 + ………. 
 (c) The arithmetic mean of two numbers is 25.5 and geometric mean is 12. Find these 

numbers.  4 
 

4. (a) If ux = x2 – 3x + 5, then obtain the value of Δux and Eux. 4 

 (b) Find log 37 using following data : 6 
  log 35 = 1.5441, log 38 = 1.5798, log 40 = 1.6021. 
 (c) The frequency distribution of marks obtained by 100 students is as follows. From 

it, determine the number of students scoring marks less than 36 : 4 

Marks 0-10 10-20 20-30 30-40 40-50

No. of Students 10 21 34 23 12 

OR 
 (a) Explain the meaning of interpolation and extrapolation and state its assumptions. 4 
 (b) If y1 = 3, y5 = 31, y11 = 133 then find ux and obtain uy from it. 6 

 (c) Find the value of f(6) from the following data : 4 

x 0 1 2 3 

f(x) 1 3 7 13 



5. Answer the following questions : 14 

 (1) If n = 10 and ∑d2 = 30, then find the value of r. 

 (2) If Sx = 5, Sy = 8 and r = 0.9 then find the value of Cov (x, y). 

 (3) If r (x, y) = – 0.7, then what will be the value of r(–X, –Y). 

 (4) It X and Y perfectly correlated then byx = ____. 

 (5) If byx = 0.8 and bxy = 0.2 then find the value of coefficient of determination. 

 (6) Two equations of line of regression are y = 
3
4 x and x = 

1
3 y then find the value of r. 

 (7) If –x = 3, –y = 4, byx = 0.7 then find the line of regression equation of Y on X. 

 (8) In arithmetic progression a = 100, d = –7 then find T20. 

 (9) In Geometric progression a = 2, r = 3 then find T10.  

 (10) For the two numbers 4 and 9 what will be arithmetic mean and Geometric mean ?  

 (11) Give the formula to find nth term of Arithmetic progression. 

 (12) State the relation between Δ and E. 

 (13) If ux = x2 + 7x – 3 then find the value of Δux.  

 (14) If Δu0 = 17, Δu1 = –15 then find Δ2u0. 
 

__________ 
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